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QUESTION 1

Which statement about looping in sequences is TRUE? 

A. The Start Loop stage only supports numeric loops 

B. Numeric loops must increment by one unless you supply a parameter 

C. The current loop counter value can be passed to the stages in the loop 

D. The compiler will insert an End Loop as the last stage in the sequence if one is omitted 

Correct Answer: C 

 

QUESTION 2

Which one of the following is NOT an XML Pack stage? 

A. XML Input 

B. XML Output 

C. XML Connector 

D. XML Transformer 

Correct Answer: C 

 

QUESTION 3

Which restructure stage has a single reject link? 

A. Split Vector 

B. Column Import 

C. Make Subrecord 

D. Combine Records 

Correct Answer: D 

 

QUESTION 4

Which of the following is the correct schema format for a Time column? 

A. record (tField:time[hour:minute:second];) 

B. record (tField:nullable time[];) 
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C. record (tField:time[seconds];) 

D. record (tField:time[microseconds];) 

Correct Answer: C 

 

QUESTION 5

When building an UPDATE statement in SQL Query builder, which of the following is TRUE? 

A. Predicates cannot refine what rows are updated 

B. Table(s) referenced must have table definitions imported previously 

C. Column values can be job parameters or input columns but not expressions 

D. Columns to update must be selected individually from the column selection grid 

Correct Answer: D 
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